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30197622 I?'nqp A 4, A3 trcuz urnlrh 2000 60000 30

30t97622 fdnr-r1p A 4, gnr-hrur]np trcu2 hrurn 15 1800 120

2245r190 Tluu,nr,lnqlrn FCUZ hurur 200 4000 20

301921.00 O'huhl: trcuz hurur 80 1600 20

30199420 t-rlruBnutB trcuz hurur 150 L500 L0

30199420 Lrhlhtn trcuz hrur.n 500 1000 2

Uhrhbnhh rihqmh trcuz hulrr 80 80c 10

3929250C Purhnh trcuz hurur 2s00 1000c 4

37821.10C '{n&hl-r trcuz hurn 100 500 5

30192133 Unhl trcuz hurur 150 750 5

30r92128 arrhl trCUZ hurur 100 2000 20

30192122 enhl trctJ,z hunn 50 2500 50

30t9212r 9nhl trQUZ htutn 200 2000 10

30192130 [Junnhur trcuz hurrrr 150 1500 10

30197120 Irndquni trCUZ hurur 90 7200 80

30197320 9runhl trcuz hruur 1800 3600 2

30197L00 9urnhlh ruuhn trcuz nnr-rh t40 2800 20

301921.60 Curnhlu trcue hurtn 200 1600 R

24910000 UnuhLd.bhn trcu2 huul 3s0 14000 40
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2281,t130 Sturn 12 BtnB trcu2 hunn 50 5000 L00

Lnrourr.nhurn trcu2 hurr.n 3000 3000 L
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'rLL L hurr,n 1500 30000 20
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22800000 purq pnqurb dunihnh riruurrurh trQUZ hulrr 500 1000 2
22800000 'kuul hb h ru z luurururhprur hh tu r urh ACUZ hurur 500 10500 2L
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44511330 'lurmuurLurhurl: trCUZ huur 10 2000 200
249L1,200 Unufrtr& r]uu1r.nlr trQU2 Lq 1000 20000 20
33761000 9nr-qurpurhlr pm4p trCUZ ]rruBhrt 7300 21900 3
39831240 Uruppnq trlnr-php trcu2 hunn 550 11000 20
39836000 Ur]h1 unrlnpur\ruLr trQUZ hurur 1500 15000 10
39831242 @rZh &hnpnr] 1rlruhrulnr- hrutftun trcuz huur 400 5200 13
243 11300 €l.F trcuz thurn 1000 20000 20
42131480 @ur\urhhhpfr riruuhp ACUZ hurur 2500 50000 20
441.1.L200 Shrlhhur trcuz uurnb 2600 7800 3
44921200 Yl'p trcuz huru 260t 52020 20
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44320000 UruLnr-luLrhp NNII) rl 270 5400 20
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4451,111,0 trruh trQU2 hruur 1500 3000 2
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37451290 $nr-rnpnfr qh+ur\ trcu2 hurtn 3700 7400 2
3019593 L Qpruuituluuru\ trcu2 hurur 7500 7500 t
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3361000C Uu\n$hh nl trcu2 huru L60 640 4
33610000 trcuz hurur 80 40c 5
33610000 Shrlulurtqhb N2O trcuz hunn 25 500 20
33610000 htrurq H trcuz hrurn 67 1340 20
33610000 lgptplnuhu hup trCUZ hruur 13C 2600 20
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